Spring Test 5

1 |6*= 2 600 X 100 =

3 —05=0.5 4 | 6759+~ 8 =

S = 3287 X9 6 | 7435 = X5

7 ;_+é_: 8 X 5 =28+ 22

9 [15-3+4)= 10| 5 of36=

1" l—><;—= 12 | 10% of 320 =

13 % n 19_4 - 14 | 7.6341 + 1000 =

U U

15 | 8346 + 59 + 645931 = 16

U U
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Spring Test 5 (continued)

17 | 5%of 140 = 18 = 384.2 — 79.56

19 | 569 =124 — 20 | 6000 — 3058 =

U 0

21416356 22| 6=2154+
15 (2 marks)
23 | 8000 — = 5843 29 X 62

U U

2531|6014 @mais) | | 2@ = 15% of 360

U 0

27| 8629 2 marks) [Total marks / 30)

X 54
U

HOW We" did YOU do" + with correct place value | 15 | 18 | 19
Colour the numbers of the — with zeros 20 | 23
questions you got correct. = orxby10,1000r1000 | 2 |14
Long x and long + 2412527
Fractions 7 101113

Percentages of amounts | 12 | 17 | 26

Missing numbers 3618 |16[19 22|23

Brackets 9

+ 3789 ([13]15

- 9 [18[19(20](23

X 112 |5]|10|M|17)|24]26]27

+ 4 81101214 (16|17 |21 |22(|25](26
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